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104 RON NO. woceervecerirecrenens
May 2007
APPLIED MATHEMATICS
Time : 3 Hours Maximum Marks : 70

T : (i) 7T 757 sl & g F & B e gt & aa
g |

Question No.l is compulsory, answer any Five
questions from the remaining.

(ii) FF g7 F T 9P B FHAN OF G 5T o |

Solve all parts of a question consecutively to-
gether,

(iii) T T Bt 74 7% & 707 T |

Start each question on fresh page.

(iv) 2t smaron & e & @t Rafa 7 sl e &
A7 &

Only English version is valid in case of difference
in both the languages.

L () 143 3 g9 w0 2@ R

Express | ++/3 in polar form.
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(ii)

(111)

(iv)

(v)

2. (1)

(2 ) 104

4 7% T 3 WefRal &t uw 9fs o fraw wert & femr
1 wahen & T 2 wefat o aa @ 8

In a how many ways can 4 boys and 3 girls be
seated in a row so that no two girls are together?

3 =2
ZT&A‘_‘L _ZJ@AE=KA_3;EHKEMHEITH
FHiford |

3 -2
If A=L _2] find K so that 42 - gA 27
ST f{_x}:-“'g——xz FT W S B |

Find domain of the function f(x)= Jo- y? .

Tz E:lf~j+£iﬁfﬂﬁﬂ b=i-2j+k WYY
T hiford

‘Find projection of vector G = 2{ - j + k on vector

b=i-2j+k. ' 2x5

3, 1)
[Ermﬁj ® TR ¥ x - 1d 9z o i

Find term independent of x in the expansion of
(3 , ] )“

--I ——— .

2 3x

Conrd. ...



(i) g Fifaa:-
Solve that: 6x2

§in Sx +sin3x
COS Sx +cos 3x

=tandx

I -1 1

3. (i) af dfmw A2 1 3 ar A s Ff oo
1 1 1 .

L.

TR gErar ¥ W wieer FE x + 2y 4+ x = 4,
X+y+2=0,x~-3y+z=2% & HfA

I -1 1
A=|2 1
1 1 1

hence solve the system of linear equations
X+2y+z=4, x+y+z=0x-3y+2z=2,

If matrix then, find A-! and

(i) forg fod:—
prove that:— 6x2
l+a 1 i
1 1 1
I 1+b 1 |=abdl+—+~+-
a b ¢
I l l+¢

4. (1) U9 9@ W@ ¥ wHEO I AR W 5w
X=2y+3=0% T9qq & T x - 3 W 3 T o7 WL
A & 1

KTO.



(ii)

5. (1)

(i)

6. (1)

( 4 ) 104
Find equation of a straight line perpendicular to
the line x—2y+3=0and having intercept 3 on
X-axis.

IH g9 1 WHEO ;A Hfd A fage (1, 2), (3, —4)
3T (5, —6) F o & | TEH Fx 7 o o s B
Find equation of the circle which passes through

the points (1, 2), (3,4) and (5, ~6). Find its centres
and radius. 6x2

oA o=~
Find ;-

lim +/3sinx—cosx

L n
X —r— X — —

6

X 4 (sin x)* T X B T FFHT O WA B |

Find differential coefficient of x *™ + (sinx)*
w.I. 10 X. 6x2

firg o @ el g o @, S R gt BT e 3
& & 7% Froeaw grm aft gEEt S STEn B B
B T B |

Show that a cylinder of a given volume which is
open at the top, has minimum total surface’ area,
provided its height is equal to radius of its base.

Conid. ...



(i) s -
dx .
Evaluate:— ——
valua I.r”’ P 6x2
7. (1) 3 g -
Evaluate:—

(ii)

(1)

]:“ log(1 + tan x)dx

& iford—
Solve:-
2 2 dJ’_ 2 2
(x"+y )amﬂx =3xy+2y 6x2

Ry g R ; # Bl g At -

For vectors g and j prove that;-
(@xb)* =a’b’ -(a.b)’

7ef Where a=|a| b=|b]|

| dx
ferae & 3/8 fraw & weraan & Lﬁiﬁrqﬁﬂﬁ

Hifod

6x2 »

) I
Use Simpsons 3/8 rule to evaluate I

0] 4+ x°°




